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Dim service As ServiceDetailsVO = New

service.Service = New

service.Service.coded_string = "903540"

service.Service.terminology_id = "RVU"

service.Service.value = " 4 4, 5 Qs (OSaS asee ofiy Gl e iR )3 ()l Gl e
el 55, a sl

service.ServiceCount = New

service.ServiceCount.magnitude = 2

service.ServiceCount.unit = "Each"

service.ServiceType = New

service.ServiceType.coded_string = "2.1"
service.ServiceType.terminology_id = "thritaEHR.ServiceType"
service.ServiceType.value = "G by Clad 4d =3

service.WardType = New
service.WardType.coded_string = "5"
service.WardType.terminology_id = "thritaEHR.ward"
service.WardType.value = "Gso= 5 B8 "
service.WardName = "G gle Qi A"

service.StartDate = New

service.StartDate.year = 1401
service.StartDate.month = 3
service.StartDate.day = 7
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service.StartTime = New
service.StartTime.hour = 12
service.StartTime.minute
service.StartTime.second

n o
[

service.EndDate = New
service.EndDate.year = 1401
service.EndDate.month = 3
service.EndDate.day = 9

service.EndTime = New
service.EndTime.hour = 12
service.EndTime.minute
service.EndTime.second

nn
[ RN

service.KType = New

service.KType.coded_string = "7"
service.KType.terminology_id = "thritaEHR.KType"
service.KType.value = " ase"

service.KValue = 135900 ' = s K

service.TotalCharge = New
service.TotalCharge.magnitude = 7338600 '(Y*YV*)Vod..)
service.TotalCharge.unit = "Rial"
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Dim service As ServiceDetailsVO = New ServiceDetailsVO

service.Service = New ClinicalClass.DataType.DO_CODED_TEXT
service.Service.coded_string = "903500"

service.Service.terminology_id = "RVU"

service.Service.value = " ¢l 4 (s 5 A3h claging gll) gasee (B 50 ol Gl e

service.ServiceCount = New ClinicalClass.DataType.DO_QUANTITY
service.ServiceCount.magnitude = 3
service.ServiceCount.unit = "Each"

service.ServiceType = New ClinicalClass.DataType.DO_CODED_TEXT()

service.ServiceType.coded_string = "2.1"
service.ServiceType.terminology_id = "thritaEHR.ServiceType"
service.ServiceType.value = "G lu )y Clad 4d 3"

service.WardType = New ClinicalClass.DataType.DO_CODED_TEXT
service.WardType.coded_string = "300"

service.WardType.terminology_id = "thritaEHR.ward"
service.WardType.value = "OYLS,5 Jlyis ol a"
service.WardName = "o (ol A"

service.StartDate = New ClinicalClass.DataType.DO_DATE
service.StartDate.year = 1401
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service.StartDate.month 3

service.StartDate.day = 9
service.StartTime = New ClinicalClass.DataType.DO_TIME
service.StartTime.hour = 12

service.StartTime.minute = ©
service.StartTime.second = ©

service.EndDate = New ClinicalClass.DataType.DO_DATE
service.EndDate.year = 1401

service.EndDate.month = 3

service.EndDate.day = 12

service.EndTime = New ClinicalClass.DataType.DO_TIME
service.EndTime.hour = 12
service.EndTime.minute = ©
service.EndTime.second = ©

service.KType = New ClinicalClass.DataType.DO_CODED_TEXT
service.KType.coded_string = "7"
service.KType.terminology_id = "thritaEHR.KType"
service.KType.value = " <sc”

service.KValue = 135900 ' 1= )l K
service.TotalCharge = New ClinicalClass.DataType.DO_QUANTITY

service.TotalCharge.magnitude = 2446200 '(V*1*)1Ved..)
service.TotalCharge.unit = "Rial"

:}ggos)mﬁau»é,ﬁ

Dim service As ServiceDetailsVO = New ServiceDetailsVO
service.Service = New ClinicalClass.DataType.DO_CODED_TEXT

service.Service.coded_string = "903570"
service.Service.terminology_id = "RVU"
service.Service.value = " 5 by Jdud 51) Dl ol glacdt 0 jlan pa )l 4 ool Dl je

(0 5 ar ™

service.ServiceCount = New ClinicalClass.DataType.DO_QUANTITY
service.ServiceCount.magnitude = 2
service.ServiceCount.unit = "Each"

service.ServiceType = New ClinicalClass.DataType.DO_CODED_TEXT()

service.ServiceType.coded_string = "2.1"
service.ServiceType.terminology_id = "thritaEHR.ServiceType"
service.ServiceType.value = "G liu )y Clad 4d 3"

service.WardType = New ClinicalClass.DataType.DO_CODED_TEXT
service.WardType.coded_string = "541"

service.WardType.terminology_id = "thritaEHR.ward"
service.WardType.value = " e=VG 5 3"
service.WardName = " JL"

service.StartDate = New ClinicalClass.DataType.DO_DATE
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service.
service.
service.

service.
service.
service.
service.

service.
service.
service.
service.

service.
service.
service.
service.

service.
service.
service.
service.

service.
service.

service.
service.

StartDate.year = 1401
StartDate.month = 3
StartDate.day = 10

StartTime = New ClinicalClass.DataType.DO_TIME
StartTime.hour = 12

StartTime.minute = ©

StartTime.second = ©

EndDate = New ClinicalClass.DataType.DO_DATE
EndDate.year = 1401

EndDate.month = 3

EndDate.day = 10

EndTime = New ClinicalClass.DataType.DO_TIME
EndTime.hour = 12
EndTime.minute = ©
EndTime.second = ©

KType = New ClinicalClass.DataType.DO_CODED_TEXT
KType.coded_string = "7"

KType.terminology_id = "thritaEHR.KType"
KType.value = "(asec"

KValue = 135900 ' =8 k. K
TotalCharge = New ClinicalClass.DataType.DO_QUANTITY

TotalCharge.magnitude = 1630800 '(Y*1*\1Ved..)
TotalCharge.unit = "Rial"

:ksétﬁﬁggo)U’gS'ihs;tka)gs&ﬂn.&$'4éjg3

Dim service As ServiceDetailsVO = New ServiceDetailsVO

service.
service.
service.
service.

Service = New ClinicalClass.DataType.DO_CODED_TEXT
Service.coded_string = "903580"

Service.terminology_id = "RVU"

Service.value = " (Cuys) 4ulee clul 4) byw a8k clad )y o liuy il e

Dl a4 ("

service.
service.
service.

service.
service.
service.
service.

service.
service.
service.
service.
service.

ServiceCount = New ClinicalClass.DataType.DO_QUANTITY
ServiceCount.magnitude = 1
ServiceCount.unit = "Each"

ServiceType = New ClinicalClass.DataType.DO_CODED_TEXT()
ServiceType.coded_string = "2.1"
ServiceType.terminology_id = "thritaEHR.ServiceType"

ServiceType.value = " lbu )y Sledd 4 i

WardType = New ClinicalClass.DataType.DO_CODED_TEXT
WardType.coded_string = "814"
WardType.terminology id = "thritaEHR.ward"
WardType.value = "Gl S5 S SI"

WardName = "SI
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service.
service.
service.
service.

service.
service.
service.
service.

service.
service.
service.
service.

service.
service.
service.
service.

service.
service.
service.
service.

service.
service.

service.
service.

StartDate = New ClinicalClass.DataType.DO_DATE
StartDate.year = 1401

StartDate.month = 3

StartDate.day = 10

StartTime = New ClinicalClass.DataType.DO_TIME
StartTime.hour = 15

StartTime.minute = ©

StartTime.second = ©

EndDate = New ClinicalClass.DataType.DO_DATE
EndDate.year = 1401

EndDate.month = 3

EndDate.day = 10

EndTime = New ClinicalClass.DataType.DO_TIME
EndTime.hour = 15

EndTime.minute = 30

EndTime.second 0

KType = New ClinicalClass.DataType.DO_CODED_TEXT
KType.coded_string = "7"

KType.terminology_id = "thritaEHR.KType"
KType.value = " esec"

KValue = 135900 ' =8 k. K
TotalCharge = New ClinicalClass.DataType.DO_QUANTITY

TotalCharge.magnitude = 40770 '()*.,V*¥\Ved..)
TotalCharge.unit = "Rial"

o 361 (8 ok y oo 4 %5

Dim service As ServiceDetailsVO = New ServiceDetailsVO

service.
service.
service.
service.

service.
service.
service.

service.
service.
service.
service.

service.
service.
service.
service.
service.

Service = New ClinicalClass.DataType.DO_CODED_TEXT

Service.coded_string = "903565"
Service.terminology_id = "RVU"
Service.value = "=l dee Gelu o Gl 4 ol ) e

ServiceCount = New ClinicalClass.DataType.DO_QUANTITY

ServiceCount.magnitude = 2

ServiceCount.unit = "Each"

ServiceType = New ClinicalClass.DataType.DO_CODED_TEXT()
ServiceType.coded_string = "2.1"
ServiceType.terminology_id = "thritaEHR.ServiceType"
ServiceType.value = "Gl Gledd 48 jai"

WardType = New ClinicalClass.DataType.DO_CODED_TEXT
WardType.coded_string = "204"
WardType.terminology_id = "thritaEHR.ward"
WardType.value = "Giw diis dee SUI"

WardName = "des SUl"
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service.
service.
service.
service.

service.
service.
service.
service.

service.
service.
service.
service.

service.
service.
service.
service.

service.
service.
service.
service.

service.
service.

service.
service.

StartDate = New ClinicalClass.DataType.DO_DATE
StartDate.year = 1401

StartDate.month = 3
StartDate.day = 9

StartTime = New ClinicalClass.DataType.DO_TIME
StartTime.hour = 21

StartTime.minute = ©

StartTime.second = ©

EndDate = New ClinicalClass.DataType.DO_DATE
EndDate.year = 1401

EndDate.month = 3
EndDate.day = 9

EndTime = New ClinicalClass.DataType.DO_TIME
EndTime.hour = 23

EndTime.minute = ©

EndTime.second = ©

KType = New ClinicalClass.DataType.DO_CODED_TEXT
KType.coded_string = "7"

KType.terminology_id = "thritaEHR.KType"
KType.value = " esec"

Kvalue = 135900 ' =8 k. K
TotalCharge = New ClinicalClass.DataType.DO_QUANTITY

TotalCharge.magnitude = 1630800 '(Y*1*\1Ved..)
TotalCharge.unit = "Rial"




